BSEH MARKING SCHEME (MARCH 2024)
CLASS 12™
ACCOUNTANCY (CODE: B)

Expected Answers

Distribution
of marks

Part- A
HTIT-3
(Accounting for_Partnership firms and Companies)
(Trsierl waAt iR Fufaat & v @)

(B) Zero
(@) =7

(©) 2:1
) 2:1

(C) current account of the new partner

(H) 7T WEER & °e] @id

%2400

Realisation Account

Rl GURCIG

General Reserve A/C Dr.
Profit and Loss A/C Dr.
To Old Partner’s Capital A/C

(A)Both (A) and (R) are true (R) is a true explanation of (A)
(31) (A) 3R (R) Q=T AT & (R) (A) T HEY TS B

(A)Both (A) and (R) are true (R) is a true explanation of (A)
(@) (A) 3R (R) ST EcT § (R) (A) T HET TISEHIT &

Private Company

ool shusir

10.

Charge
TR

I1.

Zero coupon bond is a bond on which the interest rate is not fixed, that is, on which the interest rate is
not mentioned. These bonds are issued at steep discounts to provide returns to investors. The difference
between its issue price and redemption price is 'total interest' which is distributed over the total tenure
of the bond.
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12.

Profit and Loss Appropriation Account
For the year ending on 31.03.2016

Dr. Cr.

Particulars g Particulars %

To interest on capital By Profit and Loss A/C

Radha 3000 (Net Profit) 29400
Raman 1200 4200 Less: interest on Radha’s

To Partner’s salary Loan 1200 28200
Radha 10000
Raman 7000 17000

Vix4=2




To profit transferred to

Capital A/cs of:

Radha 5000
Raman 2000 7000

28200

OR
(i) Drawing (1) T80T

(ii) Interest on drawing (i1) ATEIOT 9T =TT
(iii) Share of loss (iii) gffer &1 feear
(iv)  Closing cr. Balance of the capital account (iv) ot @i & 3ifd# #ise A

vx4=2

13.

Capitalised value of the firm  Average Profit x - 100

Normal Rate of Return

= ¥ 1,20,000x100 =%12,00,000

100

Capital employed = Total assets - liabilities
= %14,40,000- %4,80,000 = %9,60,000

Goodwill = Capitalised value - Capital Employed
=%12,00,000 - 29,60,000 = X 2,40,000

OR

Any two from the following:
(1) Favorable location of the business
(i) Efficiency of management
(iii)  Longevity of business
(iv) Nature of Goods
) Possession of licence
(vi) Risk involved
(vii)  Future competition

faf@a & @ 5 an
(i) STSETT T IeJehel TUTT
(if) TSTEIeT ShT FRAAT

(iii) STaarT @ Fafer

(iv) aFg & gepid

(v) TSEH T gl

(vi) SNTQs &1 AE=T

(vii) #fasT &r gfaafEar

1+1=2

14.

Calculation of new profit sharing ratio:
N’s share = 1/6 ; M’s share 1/6
Remaining share for K and L = 1-(1/6+1/6)= 4/6
This will be divided between K and L their old ratio i.e. 3:2
Hence, the new share of K = 3/5 of 4/6 = 12/30
New share of L =2/5 of 4/6 = 8/30
Thus, new ration of K, L, M and N = 12/30:8/30:1/6:1/6 or 12:8:5:5

Calculation of sacrificing ratio :

Sacrifice made by K= 3/6-12/30= 3/30

Sacrifice made by L =2/6-8/30=2/30

Sacrifice made by M = NIL

Thus, sacrificing ratio among K, L and M = 3:2:0

15.

(1) Loss on its share on revaluation of assets and liabilities.

1+1=2




(i1) His share in writing off the Goodwill shown in the books.

(i) TFafaar 3R aficdl & gerefedise W 38 fGEd &1 gl |

(if) &l # RETS 1S T & Ier@eT # IHe HEdT |

16. Date | Particulars L.F. | Debit Credit
) Q)
Equity Share Capital A/C  ................. Dr. 67500 .
To Equity Share Allotment A/C 27000 ”
To Equity Share First Call A/C 18000 IZ
To Share Forfeited A/C 22500
(Being 900 equity share forfeited for non-
payment of allotment and First call money of X
30 and X 20 per share respectively )
BankA/C Dr. 81000 Ya
To Equity Share Capital A/C 67500
To Securities Premium Reserve A/C 13500 72
(Being 900 share were re-issued @ X 90 per
share, X 75 paid up )
Share Forfeited A/C ... Dr. 22500 y
To Capital Reserve A/C 22500 ’
(Being the profit on reissue of shares
transferred)
17. JOURNAL
Date | Particulars L.F. | Debit Credit
) R})
(a) | Realisation A/C Dr. 12000
To Bank A/C 12000 !
(being bank loan discharged)
(b) | Realisation A/C Dr. 400
To A’s Capital A/C 400 1
(being commission credited to A)
(c) | A’s Capital A/C Dr. 20000
B’s Capital A/C Dr. 8000
To Deferred Advertisement 28000
Expenditure A/C 1
( being the deferred advertisement expenditure
written off)
18. JOURNAL
Date | Particulars L.F. | Debit Credit
®) ®)
(1) Sundry assets A/C Dr. 99000
To Girish A/C 99000 !
(being assets purchase from girish)
(Debenture are issued at par)
(i1) | GirishA/C Dr. 99000 1
To 11% Debenture A/C 99000
(being issue of debenture at par)
(Debenture are issued at Premium)
(111) | Girirsh A/C Dr. 99000
To 11% Debenture A/C 99000
To Security Premium A/C 9000 1
(' being issue of 900 Debenture of X 100 each at
10% premium)




19.

Capital Accounts of Amit and Sumit

Dr. Cr.

Particulars Amit Sumit Particulars Amit | Sumit

3 3 b 3
To Drawings A/C 4000 8000 | By Bank A/C (capital) 40000 | 25000

To Balance c/d 52400 22500 | By salary A/C 6000 -
By interest on capital A/C 2400 | 1500

By Profit and Loss
Appropriation A/C 8000 | 4000
56400 30500 56400 | 30500
OR

Any three of the following:

1. Two or more persons: To establish a partnership, it is necessary to have at least two persons. The
maximum number of partners is not mentioned in the Partnership Act, but according to Section 464 of
the Company Act 2013, there cannot be more than 50 partners.

2. Agreement between the partners: Partnership is the result of an agreement. It should originate from

stagnation and not from law. On the contrary, the joint Hindu family originates from law and not from
stagnation. Such agreement may be oral or written. According to this agreement, the mutual rights and
responsibilities of the partners are decided.

3. Existence of Business and Profit Motive: Partnership should be formed to run a business. The
objective of the business should be to earn profit and such business should be legal. Just being a co-
owner of a property is not a partnership.

4. Sharing of Profits: The purpose of arrangement should be to share the profits of the business. If some
persons make any religious or charitable arrangement then it will not be called partnership.
Additionally, if a partner is not given a share in the profits, then that person cannot be called a partner.
But it is not necessary that all the partners share in the losses also. The partners can, by mutual
agreement, exempt one or more partners from sharing in the losses.

5. Relationship of Principal and Agent: Every partner is also an agent of the firm and the principal is
also an agent because he can bind the other partners by his actions and the principal because he himself
binds the other partners. Is bound by actions.
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20.

B’s Loan A/C
Dr. Cr.
Date Particulars b Date Particulars %
2015 Bank A/c 2015 B’s Capital A/C 66000
Dec.31 (22000+6600) 28600 Jan. 1
Balance c/d 44000 Dec. 31 | By Interest A/C 6600
(10% of 66000)
72600 72600
2016 2016 —
Dec.31 Bank A/C 26400 Jan. 1 By Balance b/d 44000
Balance b/d 22000 Dec. 31 | By Interest A/C 4400
(10% of 44000)
48400 48400
2017 2017
Dec.31 | Bank A/C 24200 Jan. 1 By Balance b/d 22000
(Final Payment) Dec. 31 | By Interest A/C 2200
(10% of 22000)
24200 24200




21.

Revaluation A/C
Dr. Cr.
Particulars b Particulars i
To Investment A/C 6000 By Creditors 3000
To Machinery A/C 6000 By partner’s Capital A/c
(transfer of loss)
A 4500
B 3000
C 1500 9000
12000 12000
Partner’s Capital Account
Dr. Cr.
Particulars | A C D Particulars | A B C D
g g g g % i %
To 4500 3000 1500 - By 60000 | 40000 | 20000 | -
Revaluation balance
To Balance | 81000 | 44000 | 22000 | 29400 | b/d
c/d By Bank | - - - 29400
By
General 10500 | 7000 3500 -
reserve
By
premium
for 15000 | - - -
goodwill
85500 | 47000 | 23500 | 29400 85500 | 47000 | 23500 | 29400
Balance Sheet of A, B, C and D
As on 31 march 2015
Liabilities Amount Assets Amount
i i
Creditors 81000 Bank 61400
Partner’s Capital: Debtors 23000
A 81000 Investors 24000
B 44000 Machinery 29000
C 22000 Furniture & Fitting 10000
D 29400 | 176400 Stock 110000
257400 257400
OR
S.No. | Basis of Revaluation account Realisation account
differences
1. stage of making This account is created at the This account is created in the event

purpose of
making

Result

The value of

assets and

or time of making

time of entry, retirement or death
of a new partner in the firm.

The purpose of preparing this
account is to make adjustments in
the values of assets or liabilities.

Even after this account is created,
the firm remains operational.
Only the partnership organization
changes.

In this, only the difference
between the book values and

of dissolution of the firm.

The purpose of preparing this
account is to find out profit and loss
from sale of assets and payment of
liabilities.

After this account is created the

firm closes.

In this, the book value of assets and
liabilities, the selling price of assets

1x5=5




liabilities to be
accounted for.

Time to make

revised values of assets and
liabilities is accounted for.

This account may have to be
prepared several times during the

life of a firm.

and the actual amount paid for
liabilities are accounted for.

This account is created only once in
the life of a firm.
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22.

Date

Particulars

L.F.

Debit (%)

Credit (%)

2015
Jan.10

Bank A/C Dr.

To Equity share Application A/C
(Being amount received on application for
70000 shares @ X 5 per share including
premium.)

350000

350000

Jan. 16

Equity Share Application A/C Dr.

To Equity share capital /C

To Security premium A/C

To Bank A/C

To Equity share allotment A/C
(Being transfer of Application money to
share capital securities premium, money
refunded for 8000 shares for rejected
applications and balance adjusted towards
amount due on allotment as share were
allotted on pro rata basis.)

350000

150000
100000
40000
60000.

Jan 31.

Equity share Allotment A/C Dr.
To Equity share capital A/C

(Being amount due on allotment @ X 4 per

share )

200000

200000

Feb.
20

Bank A/C Dr.
To Equity share allotment A/C

(Being balance amount received on

allotment)

140000

140000

April

Equity share first and final call A/C  Dr.
To Equity share capital A/C
( Being first and final call money due )

150000

150000

April
20

Bank A/C Dr.
Call-in-arrears A/C Dr.

To Equity share first and final call A/C
(Being money received on first and final
call)

148500
1500

148500

Aug.
27

Equity share capital A/C Dr.
To share forfeited A/C
To call in arrear A/C
(Being forfeited the shares on which call
money was not received)

5000

3500
1500

OR

Subscribed Capital — This is that part of the issued capital which has actually been subscribed by the
shareholders. Who agreed to pay the shares issued to them in cash or other fixed consideration. When

the entire issued capital is taken into account, the issued and subscribed capital is the same.

Basis

Authorised capital

Issued capital

1. Meaning

This is the maximum amount of
share capital that the company is
authorized to issue.

This is that part of the authorized capital
which is actually issued by the company.

V2

1x4=4




2. Determination

3. Disclosure

4. Maximum
limit

It is determined keeping in mind the
present and future needs.

This is written in the company's
councilor limit rules.

Its maximum limit is shown in the
capital sentence of the councilor
rule.

It is determined on the basis of current
needs.

This is written in the articles of
association of the company.

Its maximum limit is the authorized
capital.
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Part-B
HET-§

(Analysis of Financial statements)

fadhwr faawont &1 faeeyor




23. | fa5 T & @ FS & any two of the following Ax2=1
()l a¥ & 3=d 7 FFufa fJawor (Balance Sheet)
(i) fofr a¥ & forw amaT-gIfer &1 faaRoT (Statement of Profit & Loss)
(i) fo a¥ & fow (s garg fAaROT (Cash Flow Statement)
(iv) Tfe SIC)Y & an, @Far # gRader @1 faaRoT (Statement of Changes in Equity)
(v) TTSEIOT e (Explanatory Notes)
24. | (C)schedule III part 1T 1
() 3THET 111 AT 1l
D N
25. | Financing 1
o
26. | (C) Only (A) is true !
(F) dael (A) T &
27. | 1.25:1 1
2B | AT HF A RS (any two of the following): 1+1=2
(1) am-gif & fawr & AT (Information about Profit and Loss)
) fodg ufa & v & AT (Information about Financial Position)
(3) USET I FEIAT (Assistance to Management)
(4) JeleTlcHe 3eTYT H HEMIHh (Enables Comparative Study)
(5) |OT ol # g (Helpful in Raising Loans)
(6) o Ao & 3UATITHATAT HeT (Information to Users of Financial Statements)
(7) A & affca F AUROT aXe & TGS (Helpful in Assessment of Liability)
(®) EFlTrlt\F-ﬁ' AT #F YATOT (Evidence in Legal Matters)
29. | Current ratio = Current assets !
Current liabilities
25= 1500000
Current liabilities V2
Current liabilities = 1500000 = X 600000
2.5
Liquid Ratio =_Liquid Assets 2
Current liabilities
0.85 = Liquid Assets V2
600000
Liquid assets =X 600000 x 0.85 =3 510000
Inventory = Current Assets — Liquid Assets
=3 1500000- X 510000 1
=3 990000
OR
Any three of the following:
(1) Useful in simplifying accounting figures — To make the financial statements easily understandable, 1x3=3

with the help of ratio analysis, the complex accounting figures shown in the profit and loss account and
balance sheet can be simplified, condensed and Is arranged.

(i1) Useful in analysis of financial statements — Ratio analysis is the most important technique available
for analyzing financial statements. This analysis is beneficial not only for managers but also for
outsiders like investors, bankers etc.




(ii1) Useful in comparison — With the help of ratio analysis, it becomes easy to compare the efficiency
of two firms or one firm in two periods.

(iv) Useful in judging the profitability and efficiency of the business — With the help of ratio analysis,
knowledge about liquidity, solvency, profitability etc. of a business can be easily obtained.

(v) Useful in taking remedial action — Ratio analysis indicates the weak points of the firm. Corrective
action is necessary for this. Ratio analysis helps in taking decisions that can improve the profitability,
solvency and efficiency of the firm.
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30.

Calculation of cash from investing activities

Particulars Amount
3
Sale of plant and machinery 40000
Sale of land (see note 1) 160000
Purchase of plant and machinery (see note 2) (260000)
Purchase of non-current investment (60000)
Net cash flow from investing activities (120000)
Working Note: 1
Dr. LAND A/C Cr.
particulars 3 particulars 3
To Balance b/d 200000 By Bank A/C (Sale of Land) 160000
To Gain on sale of Land A/C 60000 By balance c¢/d 100000
260000 260000
Working Note: 2
Dr. MACHINERY A/C Cr.
particulars S particulars S
To Balance b/d 850000 By Depreciation 50000
To Bank A/C (Purchase of By Bank A/C (Sale of machinery) 40000
machinery) 260000 By Loss on sale of machinery 20000
_ | Bybalancec/d 1000000
1110000 1110000




OR

Cash flow statement — A cash flow statement is a statement that explains the changes in a business's

cash balance between two periods. It is a statement that shows inflows of cash (receipts) and outflows 1
of cash (payments). This statement also analyzes the reasons for change in cash balance between two
different dates.
Objectives of Cash Flow Statement 1x4=4
(i) To obtain information about sources of receipts of cash and cash equivalents from operating,
investing and financing activities of a business.
(i1) To obtain information about payments or applications of cash and cash equivalents under the
operation, investment and financial activities of a business.
(ii1) To find out the difference between the sources and uses of cash and cash equivalents under the
above three activities between the dates of two position statements.
(iv) To obtain information about the major activities which have resulted in receipt of cash or payment
of cash during a particular period.
s garg [aaRoT (Cash flow statement) — Jehs aTg fdavor T U faaxor § S ar 3rafaar
& &g IaaT & s a‘rsrfrgtrqﬁaé#raﬁrm T AT | T§ Th fAaoT § S Thdr
& Hecdrg (o) 3R AR &1 aEF Jarg (FTae) e@rar g1 Jg faazor & fafdes
fAfdat & g J JTRT & AT A IRTdT & FRON &7 AT 8 FIar gl
Vs yarg fqavor & 352
(i) fordT cggarT & daTere (Operating), TATAANT (Investing) T4T AT (Financing) fshamsit &
oehe, Ud iehe Jodl @l JITCaal 31T &l (Sources) T STAhRI o &I |
(ii) Fr el cTear st FTele, faferater qum fadar fshansit & 3edeld e Td o Jedl &
Tl 37147 3UFEIT (Applications) T STeTehRT WIC T |
(i) & Fufa azon #r fafdal & #eg sRed At a3t & 3fed9d sTohe Td oTdhg
qedl & Fidl Td 3UAEI & HLF 3] AT HLe |
(iv) 3o GHE ThATIT HI SIHhRT ITod T et Boka®y Teh Iy 3afer & eRrer
ofehc] ISl §S § 31T Ahdl T STl foharm aram gl
Part—B
(Computerised Accounting)
23. | Features of Computerized Accounting System — (Any one) 1
(1) Data is input and stored online.
(2) Accounts, transactions and records get unique codes for identification.
HEYFH WM JUTTell T [AATATE- (H1S T )
(1) 3eT gaiqe 3R 3ifeerser d@adia fmar e 2
(2) @rdl, ¢ 3R 3ifFerEl 1 vgare & fav gfada s fAeaa g
24. | Logical level 1




e TR

25. | (D) 14+15 1
() 14+15
26. | (C) Data bank !
() 3T d%
27. | (D) colon 1
(T) sleteT
28. | (1) Click on the Report button. You can select either the Blank Report button (to create and display a 1
report in Layout view) or the Report Design button (to create and display a blank report in Design
view).
(2) Create a report. A report is instantly created based on the active table or query, and appears in layout
view. u
1
(3) Click on Save button.
(4) Give the report a name and click OK.
(5) Create a report. 1
(6) The report is saved and appears in the navigation pane.
(1) RAIE seaT W fFereh Y| 3T A7 af Red RO sea (33T g2y & RaE sa= 31K
Yeid i & fow) a1 R Basa g (Bosa 127 & s Red R sa9= 3k
Y aet & fov) &7 I FT T &l
(2) Th ROIC §AT0| |iha drfereht I1 & & UR W Teh RUIE T 15 STt &, AR
3T 72T F R@s & &
(3) ¥F §ed W Folh A
(4) RAIE &1 T A1 & 3R 3 W Fod HL
(5) T RUIE 10|
(6) RaE @gsht ot & 3R Afadiee woe & R@s 2 2
29. | Any three of the following:
1. Speed — The main difference between manual and computerized systems is speed. Accounting 1x3=3

software not only processes data and creates reports much faster than manual systems, but also allows
for faster data entry. Overall computerized accounting will save you a lot of time, as it allows
documents such as invoices, purchase orders and payroll to be collected and printed quickly and
accurately.

2. Accuracy -- Traditional manual accounting is a tedious process that requires accountants to spend a
lot of time mathematically checking numbers in a company's accounting information. Simple mistakes
such as transposing numbers or entering information in the wrong column can lead to significant errors.
Computerized accounting systems allow accountants to process more information than ever before,
creating accurate financial reports.

3. Automation — Manual accounting is much more difficult than computerized accounting. You have to
add the columns correctly, double-check your work, and physically write in the numbers. These routine
tasks are efficiently handled by computerized systems, which update records automatically and on the

go.




4. Integration of accounting with other business processes-Accounting is not a separate activity in itself.
It is linked to other business processes, such as sales, purchases, banking, taxation, etc.
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A GUI is an interface that allows users to interact with various electronic devices using icons and other
visual indicators. Graphical user interfaces were created because command line interfaces were too
complex to learn all the commands.

Nowadays, graphical user interface is used in many devices like mobiles, MP3 players, gaming devices,
smartphones etc.

elements in graphical user interface

Graphical user interface uses mostly visual elements. These elements define the appearance of the GUI.
Some of these are described in detail as follows-

1. Window: It is the element that displays information on the screen. It is very easy to manipulate a
window. It can be opened or closed with the click of an icon. There are many types of windows in
graphical user interface, such as container window, browser window, text terminal window, child
window, message window, etc.

2. Menu: A menu contains a list of options and it allows users to select one of them. A menu bar
displays horizontally on the screen like a pull down menu. When any option in this menu is clicked, a
pull down menu appears.

3. Icons: Files, programs, web pages, etc. can be represented using a small picture in a graphical user
interface. This picture is known as an icon. Using an icon is a great way to open documents, run
programs, etc. because clicking on them provides quick access.




4. Control: Information in an application can be directly read or influenced using graphical control
elements. These are also known as widgets. Typically, widgets are used to display lists of similar items,
navigate the system using links, tabs, etc., and manipulate data using check boxes, radio boxes, etc.
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1. Railway Reservation System- A database is required to keep record of ticket booking, train departure
and arrival status. Is. Also, if trains get late, people come to know about it through database updates.

2. Library Management System — There are thousands of books in the library so it is very difficult to
keep the record of all the books in one copy or register. Therefore DBMS can be used to keep track of
all information related to book release date, book name, author and availability of the book. This is
done to retain information.

3. Banking- We do thousands of transactions through banks every day and we can do this without going
to the bank, so how banking has become so easy that we can send or receive money through banks
sitting at home. All this is possible only because of the DBMS that manages all the bank transactions.

4. Universities and Colleges — Today examinations are conducted online and universities and colleges
maintain all these records through DBMS. Student's registration details, results, courses and grades all
the information is stored in the database.

5. Credit Card Transactions Credit card and all other transactions for purchases are made possible only
by the DBMS. A credit cardholder knows the importance of his information all being secured through a
DBMS.
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A spreadsheet is a computer application for calculating, organizing, analyzing, and storing data in
tabular form. Spreadsheets were developed as a computerized analog of paper accounting worksheets.

Worksheet Workbook
(1) A worksheet is basically a single-page (1) A workbook is a file that contains multiple
spreadsheet that contains information. spreadsheets.
(2) A worksheet consists of a matrix of (2) A workbook contains one or more worksheets
rectangular cells, arranged in rows and columns. | that contain related information.

I1x5=5




(3) Worksheets are best for an educational or
learning environment.

(4) A worksheet can be converted into a
workbook.

(3) Workbooks are mostly used for working in
professional environments.

(4) Workbook can be created in the worksheet.
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